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extern int Magic

1111,
extern int Trailing_Stop ;

50;

double Pips = 0;

//BEBDESE
double AdjustPoint(string Currency)

int Symbol_Digits = MarketInfo(Currency,MODE_DIGITS);
if(Symbol_Digits == 2 || Symbol_Digits == 3)

double Calculated_Point = 0.01;
el}se if(Symbol_Digits == 4 || Symbol_Digits == 5)

Calculated_Point = 0.0001;
b

return(Calculated_Point);
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int init()

Pips = AdjustPoint(Symbol()); 3
return(0);

b

int start()

{
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for(int i = OrdersTotal() - 1; i >= 0; i--)

if(OrderSelect(i,SELECT_BY_POS,MODE_TRADES) == true)
{
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if(OrderType() == OP_BUY)
{

double Max_Stop_Loss = Bid - Trailing_Stop * Pips;
Max_Stop_Loss = NormalizeDouble(Max_Stop_Loss,
MarketInfo(Symbol(),MODE_DIGITS));

double Current_Stop = NormalizeDouble(OrderStopLoss(),
MarketInfo(Symbol(),MODE_DIGITS));

//AEHI D& DZEE
if(OrderMagicNumber() == Magic && OrderSymbol() == Symbol() &&
Current_Stop < Max_Stop_Loss)

bool Modified = OrderModify(OrderTicket(),OrderOpenPrice(),Max_Stop_Loss,0,0);
b
} o
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else if(OrderType() == OP_SELL)
{

Max_Stop_Loss = Ask + Trailing_Stop * Pips;
Max_Stop_Loss = NormalizeDouble(Max_Stop_Loss,
MarketInfo(Symbol(),MODE_DIGITS));

Current_Stop = NormalizeDouble(OrderStopLoss(),
MarketInfo(Symbol(),MODE_DIGITS));
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if(OrderMagicNumber() == Magic && OrderSymbol() == Symbol() &&
(Current_Stop > Max_Stop_Loss || Current_Stop == 0))

Modified = OrderModify(OrderTicket(),OrderOpenPrice(),Max_Stop_Loss,0,0);
b
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return(0);
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